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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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Algebra 1
Assignment
Solve each inequality and graph its solution.
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Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1 Name
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Solve each inequality and graph its solution.

1) 0.192 > 4.8(0.4x + 2) 2) —40.0152 > 3.4(2.8n — 4.9) —4.212n

JRIR IR R PRI S I
3) 7.3b+3.2(1.4-2b)>11.5 4) —2.191 > 3.13(1 + 1.7r)

i s et 0 PR S A I
5) 6.8(p— 0.4) + 6.4p < —76.64 6) 6.5X — 6.47(=3X — 5.4) > 3.846

N _:7 —:6 _:5 _:4 _:3 _I2 7 N —:3 —:2 —:1 (:) i ’
7) —4.2966 < —2.8(0.2 + 0.785p) 8) —0.6(a+3.4)—0.33a<—0.18

DI A A AR T R
9) —26.4904 < —1.8(2.312n +3.3) +n 10) —5.9(1 — 4v) < 53.1

R N S T e pRIR I B A A
11) 7.7 + 6.5(v + 6.2) > 77.25 12) —2.4(3.6 — 5.2a) > —38.592

NI T B AR N I I B
13) 3.894<2.2(1 - 1.1x) 14) 5.8(—4.7n —3.6) < —51.1386

\72 -1 0 1 2 3 4:1 ’ \72 -1 0 1 2 3 ’
15) —0.7(1 - 0.5v) + 6.9v < -50.0725 16) 6.8 —3.9(1 +4.3x) < 34.763

-10 -8 -6 —4 -2 -4 3 -2 -1 0 1 2 3



Algebra 1
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Solve each inequality and graph its solution.
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Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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Algebra 1

Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment
Solve each inequality and graph its solution.
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ID: 7
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

1) 4.582>5.8(0.3 +0.1m) 2) —6.71>6.1(n—1.2)
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1

Assignment

Solve each inequality and graph its solution.

1) 51.3086 > —6.7(-7.8k — 6.8)

N
3) —12.15<-7.2 —7.5(1.3 — 1.6k)

2o o0 1 o2 3 4l
5) —2.53 +0.5(-1.6n + 0.3) > 0.26

AR I T I A
7) 7.6908 > 6.63(1 — 0.4K)

\_:5 _:4 _:3 —:2 —:l (:) : é 5/

9)

-(n+1.8)>3.1

&—1

11) —65.81 < 2(1.04 — 7.3n)

“—t—t+—t+—+—+—+—+—+—
9 8 -7 -6 -5 -4 -3 -2 -l

A\ 4

2 03 4 05 6 71 8
13) —27.702 > 5.7(4.5n — 4.5)

\75747:372710 i;/
15) 39.256 < —8(7.9X + 5.6)

S5 43 2 -1 0 1 2 3 4°

Name

ID: 8

Date

2) —7.9(-4.51b - 0.8) > -32.8719

D S S S S
4) —3.425(x —0.1) > 10.5833
\—4 -3 :2 —Il 0 1,
6) 26.94>-1.9+2.8®a+5.4)
N
8) 1.535>6.1(1 — 0.5x) — 6.7
DI : ; T

10) 28.872 <2.676 + 5.9(7.2 — 6.9X)

&—1 1 1 1 1 1\
S T T T T 7
-3 -2 -1 0 1 2

12) —-30.4028 > 5.26(1.6n +4.3)

N
\ 4

8 -7 -6 -5 -4 -3 -2 -l

14) —23.8 <—7(~1.6m + 5.8)

N
\ 4

16) 27.496 < —2.8(3.1 + 3.4n)

&—1
< T T T T T T
6 -5 -4 3 2 -1 0

A\ 4

Period



Algebra 1

Assignment

Solve each inequality and graph its solution.

1) 51.3086 > —6.7(—7.8k — 6.8)
€= d —

-2 -1 0 1 2

A\ 4

& } } } } 2 =

-2 -1 0 1 2 3 4

5) —2.53 +0.5(~1.6n+0.3) > 0.26
‘ M

e @ ——————
-7 6 -5 -4 -3 =2 -1 0 1

A\ 4

7) 7.6908 > 6.63(1 — 0.4k)
A+ Gr—l—t—

-5 4 3 2 -1 0 1 2 3

9) -(n+1.8)>3.1

o —— — >
9 8§ -7 -6 -5 -4 -3 -2 -I|
11) -65.81 <2(1.04 — 7.3n)
e A————+——+>
2 3 4 5 6 7 8
13) —-27.702 > 5.7(4.5n — 4.5)
L >
5 4-3-2-10 1 2 3 4 5
15) 39.256 <—8(7.9x + 5.6)
< >

-5 4 3 -2 -1 0 1 2 3 4

Name

ID: 8

Date Period

2) =7.9(-4.51b - 0.8) > -32.8719
O

-4 3 -2 -1 0 1 2 3 4

N

4) -3.425(x —0.1) > 10.5833

€= ® . + + —>
-4 3 2 -l 0 1
6) 26.94>-19+28@+54)
€= } } e i —>
12 3 4 5 6 7
8) 1.535>6.1(1 —0.5x) - 6.7
<« @} + -

-2 -1 0 1 2

10) 28.872 <2.676 +5.9(7.2 — 6.9x)
€= : : : : —>

-3 -2 -1 0 1 2

12) —-30.4028 > 5.26(1.6n +4.3)

et ——————+—+—+>
8§ -7 -6 -5 -4 -3 -2 -l

14) —23.8 <—7(~1.6m + 5.8)

16) 27.496 < —2.8(3.1 + 3.4n)

€= d 10—+ f f —>
6 -5 4 3 2 -1 0




ID: 9
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

1) —7(2.541 +7r) +2.1 > 18.613 2) 2.2(7.7 + a) > 20.02

NI IR IR S S N DTN T S A S S R
3) —3.45n + 3.1(-6.4 — 2.3n) < 60.568 4) —10.281 <4.47(1 + X)

b % 7 6 5 45 a0 T 6 S5 45 o
5) 5.3075<-2.5(x + 1) 6) 6(1 + 6.6V) + 5.2v < —43.28

AR T I A NI A I
7) —14.284 > 1.3(-2 - 5.7v) + 6.1 8) —8(5.6 + 3.6b) > —28.096

DT T R S R DT T T R
9) 7.8(x —4.9) <-3.12 10) 61.7138 <—2.879(X — 6.5) — 6.27x

NIRRT BN MR IR IR LI B
11) 78.88 > 2.9(6.5 + 4.5r) 12) 47.824 > 4.9(6.9 — 2.6X)

AR A I B I AR N T T B
13) 5.49(x — 4) > —5.49 14) 7.8(n + 7.9) < 69.42

\—2 -1 0 1 2 3 4:1 5 ’ \—2 -1 0 1 2 3 ’
15) —13.6898 >—4.9(1 — 0.68n) 16) 0.209(1.7m — 6.09) < —2.23212



Algebra 1
Assignment

Solve each inequality and graph its solution.

1) —7(2.541 +7r) + 2.1 > 18.613
‘ M

-5 4 3 2 -1 0 1 2 3 4

3) —3.45n + 3.1(=6.4 — 2.3n) < 60.568

&—1
<
-1

0 -9 -8 -7 -6 -5 -4 -3 -2

5) 5.3075<-2.5(x + 1)

PN
®
v

7) —14.284>1.3(-2-5.7v) + 6.1
Ol

-3 2 -l 0 1 2 3 4

9) 7.8(x —4.9) <-3.12

ol ——+—————>
1 2 3 4 5 6 1 8
11) 78.88 >2.9(6.5 + 4.5r)
< >

PN
A\ 4

Name

ID: 9

Date Period

2) 2.2(7.7 +a)>20.02
O pl—(——

-2 -1 0 1 2 3 4 5

Gttt
8 -7 -6 -5 -4 -3 -2 -1

6) 6(1 + 6.6v) + 5.2v < —43.28
& o

-4 3 -2 -1 0 1 2 3 4

\4

8) —8(5.6 +3.6b) > -28.096
€= —0

-2 -1 0 1 2

A\ 4

10) 61.7138 <—2.879(X — 6.5) — 6.27x

e @——— +————>
9 8 7 6 -5 -4 3 =2 -1 0 1

12) 47.824 > 4.9(6.9 — 2.6X)
A —————

-6 -5 4 3 2 -1 0 1 2

14) 7.8(n +7.9) < 69.42

N
A\ 4

16) 0.209(1.7m — 6.09) < —2.23212

€= } — } >
-5 -4 -3 -2 -1 0




ID: 10
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

1) —40.572 < -2.3(1 — 6.4a) 2) 22.63 >-7.3(2.5n - 0.6)

RN SR R S T I N S
3) 11.715 > —2.63n + 0.4(4.1 + 2.7n) 4) 29.2>2.8r — 1.2(3 + 6.51)

9 8 7 -6 -5 4 -3 Y3 -7 -6 -5 47
5) —2.1(7.2 - 0.2m) < —12.0536 6) —18.673 > 7.1(1 — 3.3x)

4 s 6 7 8 9 10 11 Y2 o o0 1 o2 3 4 s
7) 34.6632 <3.3(1 — 2.376V) 8) 15.7975 > 2.4(0.9v + 5.1)

Y9 87 6-54-32-10 1 SO o i > 3 4
9) 2.01n— 1.35(n + 6.3) < —11.079 10) 72.046 < —6.52(=7.1x — 7.5)

RIS A NV S R
11) —74.8752 <-5.7(1 + 4.1n) 12) —6.5(-6.2r + 1) < 25.74

NI I E I B R B A
13) —5.6139 <-7.109p — 6.1(p + 7.2) 14) 58.83 > —4.6(1.7 + 5.5r) + 3.4

N I A A S T I
15) 11.0595 < 0.4(5.1k + 1.8) — 4.375 16) —5.6(1.8m — 7.9) < 68.432

T T T T T T T T T N\ T : : : : : : : T
3 4 5 6 7 8 9 10 11 -7 -6 -5 4 3 2 -1 0 1



Algebra 1
Assignment

Solve each inequality and graph its solution.
1) —40.572 <-2.3(1 — 6.4a)

& t t 0 d =9

5) —2.1(7.2 — 0.2m) < —12.0536

e @ ——— —————>
4 5 6 7 8 9 10 11

7) 34.6632 < 3.3(1 — 2.376V)

e ——————+—+—+>

11) —-74.8752 < -5.7(1 + 4.1n)

o ————
32101 2 3 45 6 7

13) —5.6139<—7.109p — 6.1(p + 7.2)

—y——————+—+>
4 3 =2 -1 0 1 2 3

15) 11.0595<0.4(5.1k + 1.8) —4.375

Name

1D: 10

Date Period

2) 22.63 >-7.3(2.5n—-0.6)
s e e

ST T T T
-5 4 3 -2 -1 0 1 2 3 4

4) 29.2 >2.8r — 1.2(3 + 6.5r)

6) —18.673 > 7.1(1 - 3.3x)

ot
-2 -1 0 1 2 3 4 5

8) 15.7975>2.4(0.9v +5.1)
€=

-1 0 1 2 3 4

A\ 4

10) 72.046 < —6.52(-7.1x —17.5)
A+ Ol

-5 4 3 -2 -1 0 1 2 3

12) —6.5(—6.2r + 1) <25.74

= i i i — —>
4 3 2 -1 0 1 2
14) 58.83>-4.6(1.7+5.5r)+ 3.4

A+ Oll—l—t—
-7 -6 -5 -4 -3 2 -1 0 1

16) —5.6(1.8m — 7.9) < 68.432
———+— Gtti=)

-7 -6 -5 4 3 -2 -1 0 1




